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Geometry 21

Remember to mark your diagrams or DRAW a diagram to help you solve when necessary.
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1 Find the measure of each numbered angle in the figu}"e below. t L g
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Refer to the diagram at the right. Use the given information to determine which lines,
if any, must be parallel. If any lines are parallel, use a theorem or postulate to telf
why. If no lines are parallel write “none”.
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15. Ina triangle, m<A is 4 Times the m<B. m<C is 5 more than twice the m<B. Find the measure of each
angle. L ZY?*\ e
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PRACTICE solv*ng for a variable by by factoring: (hint: don F forgef to divide by the 6¢F)
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Worksheet on Parallel Lines

Use the figures on the right. True or False. Gwen BG HCF and AG [|CE
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Always, Sometimes, Never

12. Alternate Intetior Angles formed by two parallel lines cut by a transversal are
(e \5 congruerit.

13. Correspondmg Aungles formed by two parallel lines cut by a transversal are
supplementary. ( & \

34 imfc\ij
14. Alternate Interior Angles are  seoviedyond S congruent.

15, Same Side Interior Angles formed by two parallel lines cut by a transversal are
2 Oy hwegd congruent, (é‘? A

16. Alternate Interior Angles formed by two parallel lines cut by a transversal are N
SEvadbwasy  complementary. /
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Use the information to find the measure of the labeled angles. P9} RS,IM LNO,mx1 =48
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38. Use the diagram c{d. Find mg2
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39. Find the values of x and y in the diagram. Horizontal lines are parallel to each other.
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Solve for x:
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‘or each of the followimg problems, use the given .
nformation fo find the measure of eachrangls™
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4. Given /|m; A and 22 are supplementary
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Geometry 21 More Practice with Parallel Line Proofs Name mg !

1) GIVEN & mZ7 = 125°, m£ 8 = 55°
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9. In the diagram below, find the missing angle measures.

2 g
440 msil= LO} msL] = gg’ )
({: 12 ms2=_1 8”’0 ms8= | o
2 g0 ms3=_10N ms9=_"18"
msh= T8 m0=_5g’
ms5=_ 5%’ m/t=_4Y°
~n ms6=_\'9%° ms12= BY°
O
"

10. Given that /|| m, find the value(s) of x and each angle. Be sure to check for extraneous

solutions,

m43=(x2+112)°
rn482(16x+131)°

. gaknl.kluv*ﬁ‘t'go
X* HUx ﬁ@é =\ 0
xt Hlox 3 0
(X + 71}_{ +9q) =0
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- Geommetry 21:-Practice With Parallel Lines Proofs -

[ omplete the following proofs:

I Given /|lm ; m<7=150°  Prove: m<4=30
Statements Reasons

B,Qkfm ;mé'TilSO' D Gver

?5 m < 754 g D) Vet 2{)5 Thert
% ] = e f%ipf,g

% %qcmd4§3Wd%
53 e+ m<eS = 5D

@ el +me’] =180
¢h mey g S0 =180

. 55 m <y =30
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3 /4
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uh % . \,‘ D’?




Given: allb, Ll= /3

- Prover elid * . .
(.
Statements Reasons
15 OLWO Le| By N Gruerio
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N o oF conesp S
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" Prove: m {In
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5 Given: FQHE

B Prove: L3=/6
Statements Reasons
= “ &S D G
V) 43 2l 2y alh’ ity

§
A
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Name Class Date

Practice (continued) Form K (:

3.p oo _ .

Properties of Parallet Lines

9. Developing Proof Supply the missing
reasons in the two-column proof.

Given: af|b,c|d 2 3
Prove: £1 and £4 are supplementary. N 4
/! Statements Reasons
1) A=22 e = v d= D _zvﬁf,{l}‘ 2} “TWVwA
Q // \ 2) c|d 2) Given
3) £2 and /3 are supplementary., 3) 1gavid Sicke 1At ¥ e
\( P e e d e (KD .
\ 4) a|b 4) Given
Sy £3= 24 e e BDIRL/IS TN S S L PRVAN
& /1 W |k Mci"l L& Sulp?)sk\.ff‘g""q
) £1 and Z4 are supplementary. ) Hodn  Sv o

Algebra ¥Find the value of x. Then find the measure of each labeled angle,

A 2 b etgo 1 i
(3x + &)

Ox =151 el 2Yx—1L

(5 Y

Algebra Find the values of the variables,

10.

g
-

12 Nl t 3% 23 8D

Sx+ 38 (8D

C 13 x+ 120

Y

{4x + 120

P

Gy 12 200 —
Yx =18 Qq)

14. Error Analysis Which solution for the value of x

in the figure at the right is incorrect? Explain———"

4x-2+3x-6=180

4x-2=3x+6 7x -8 = 180 ¢ .
x=8 Xx=246 /’(} C,Nf({&fjf,
--_;_;_mﬁ_."m»w—“"‘”—y‘/t" T W/ ( . -__('\""“:,
e t .
CL(/(’ ) Mf‘ 25
SR
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Geometry 21 Practice 3.1-3.2 Name

1

4 132¢°
L=

d i5 allb? k»_’% A

Find the value of the variables in each diagram. Show all work!

Find the measures of each of the numbered angles in the figure below.

: o
L{ ng‘A\”Z = C?G VAT

Y
= L’& L.(I""")uf].: /?O

= é“}(’f?&m 8=

18 p 6= 4K wav

2. 3. 4,
< /x2-4x <\/ é4x-y
s / AX*?V
_2x+§ A 22%
7 U : e ‘
e Phv-y - 205
iy -t 4 KL g ax=y
O?' ¥ ; i . %«;43(’2‘1)*2) (ij‘)(x.’g’)ﬁ(j
YHIQ+ Sx T2 - . .
Gy +35= 18V 37 vl s, AL
2. %= f}q y= ”O 3. x= ,.3!5’ 4, x= a:?;/

Classify each pair of angles as;

JU?‘

a) alternate interior b) alternate exterior c} same side interior d) corresponding or e) none of these (,( c‘,

<1&<9JL

8) <5&<11_J£_/_
11)<7&<12j@_

14) <16 & <3 b

6) <3&<12_ L 7) <4g<15 [/)

9) <8 & <14 QJ' 10) <12 &< 10 &’

12)<68<7_ (.~ 13) <138<4 &

15)<5& <4 b 16) <11 & <14 &



Write the 2 column proofs below; ©
i7. Given: t|ls X
Prove: m<5+m<2 = 180° ® 75 :
-~ \ i N --’}’\'\SJ
b«tw‘ﬂ’ S,.MXE““-—"X?'::Q“Q‘S'
N otfls Db
| | )
1\)45%%! ) AlaE S T
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E) s\f\‘iki i L"‘Né“& ?\‘{1;"5
. ‘ O ek O
5 j o mensy L5 R
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18. Given: tlls; m<7 =81°
Prove: m<1=99° °
—~ o
S - -
) - e SN
- : i \\
. ] i - i {} ‘:\ L AN
MRk N

% g = wn < g

tﬁ < "} . 8 ot (wﬂ}‘d :
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s L [oet g0
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37. mAACH X+24° msDCH=X-8° Find m-ACLHL

2x 164"
2 2
X=82°

D MsACH=x+24°
W ACH=82424°
b mzACH=106°

Linear Pair )
MLACH 2 DCH=1.80°
(X+24°3(x~8°)=180°

K+24°+x-8°=1 80
2X+16°=1.80°
~16° -16°
39. msEFH=2X%-142°, mzACH=X+16°. Find
mzACH. i \§[3
( pectse- 7
d EFH Ml
Jetiz =l
2
X < 15%
+i
[e]
W< A(H = !“fq'

IS ep =

41, m£LBCD=X+26° m«BFG=2X-24°. Find
m<BFG.

G

M ¢ HE G

40. mZGFB=x+32° msDCH=X-+24° Find
msDCH.

Qx + 56 = S@
ol = {'LL/H

Y2
MEDCH = L2y =

42 m£ADF=2X+4°, mHEC=4X-14°. Find
msHEC,

/q '+, <xt ?f [
M < ﬂ(& - M‘LHFG’
Ix Y5 x+23

WEVESTIA K

%8 msACB= ZX 45°, mLHFG )\+23° Fmd
‘mzHFG, - : '

: (afzi’»

§0

e

A B /
A
E c Atk Tat 3!
(OWS(K) =R o
: G .= < ADF TmcH Tl
H Fb T U | , .
X o i = Y1
(“C _ G H )
T . .
gy | e G/ w) 1§ = 2
et (10 "’ < 6
a
Bubble zll the correct answers from above. Don't bubble incorrect answers.
@ 760 O 1uoe @ 91° Qwe O106° O97r  @2ee O165° @86c  (Ooze




23.

25,
+79° XTI =2y =31
I
2%-37° @
27. |
e U 1) JR

T x+59°

Sk tST

CﬁﬂYf%m

29.

\ \/x+17°

le# 7 \K”},f]

>

)\

24.

SSL

PR

- Y;zw
— +54°
\ X423 HXFSY =2
oA + 17 (60

oIX = —

Syij =5 +37

39 7 2x

x (T

28. S
X+64° AH\ ?thJ |

3x-26°
Xv’(a‘?f:Sw&Uﬁ‘
3 v
"!D e

(xv5)

Vet ¥
CXFAT =32

x+97°éx+32°

Bubble all the correct answers from above. Don'tbubble incorrect answers.
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(s & SIELS o e
Parallel Lines Proof Worksheet Name _ = youe proof S
- Write a 2 column or flow proof on your own paper. " -;?(‘?:iw:f /)
7 1. Given: I || m; £2=24 2, Giver:l || m; £Llzz4 Y
“ﬂy , Prove: /4 = 23 Prove:AB = /4
& }Céq ol e f‘ | R 1\‘1‘}\’ &W__
Y23 Symmthic N g 32 Codesp: 4 Tost.
' L 3 o o ¢
2ater ath i gMne > ap= 4 Gren
o 3L Tronsive.
<44 273 Trens |
3, Given: jIlI AEII! Givenyj |1 kR || 1
Ak, Kl vae{j,lg ;_:53 .Prc-)vezzl = /6 -
P ! Qj{_ a_“ C-o"‘w"P zs,—fhu\ J“k‘ ’ K“Q ‘4’
~ fred. (aciesp ¥ Pos
e Corevres p. ?ﬁ/\um \ \ \ 35y a\{..il\*-z\"“““
< & % Trens . 2] 2’4& "I“r{:nﬁl'{\'-’(’_,‘
5  Given: L || n ¢ 6. Givenid || n
Prove:m./3 + m/6 = 180° Prove:m/2 + m.2£7 = 180°
£ “ . Give s } . ,Q”fr’t et
B ich oot s Tohs " > t Tsaplea, 00
£ el a SUK)JJ»«. SAT A4 H 1\ 3 N mtlpamd T80 Defw. SR g
- 1N\2 " 238 COCTEP: g Yost,
wmeR+m<ley T 50 D&Gﬂ- Sv\;pl,e.-n , miny = me " 'D()fn. -
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.\ 7. Given: mZ1=101°, mzZ56=101° 8. Given:mZ3 =1056° mZ6 = 75°
Prove:il i n Prove:l ]| n e 32106 melp 1 - won
i w‘<‘i‘ ool e e G\VQ'\‘- 8\7 » K—a-—-ﬁ_. .Y\“S Lo @ IR < ; f"‘\'f{d’ P{)E;
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AN DS Dok, £ A\ 3 Usotor#7—glo | we3tmel P80 3 "\ J
‘ ! ey oSt . > el g p et SR CAa
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48Ty Grotr L | Ji»n\lf
9. Given: «£8=/2 k"m Cooiof 10. Given: /7 is supplementary to 22 TN
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